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(3)

91T - I/PART -1
S 9% T 9/ CHILD DEVELOPMENT AND PEDAGOGY

ﬁfa‘w:ﬁ?ﬁ?‘éwwah?mﬁ@mmmﬁwgﬁm

Direction : Answer the following questions by selecting the most appropriate option.

1. JReele i Rt & @ afeie
A

(1) sfrea gReEH
2) e
£3) Tl A wfY
(4) "I

9. Prefafeg & @ F9-a1 feew sfrm 3
geg 4 e @ 7

~ (1) I gEEeE @

£2) e Ry s i B

(3) s fawE &

(4) P qRgEaa &

Level-1/251

1.

Which is not included in differences

related to . Q. ?

(1) Average intelligent
(2) Intelligent

(3) Interestin Art

(4) Slow learner

Which of the following options is not

correct about learning ?
(1) Learning is adjustment

(2) Learning is only aquisition of

knowledge
(3) Learning is development

(4) Learning is maturation

P.T.O.



(4)

3. Frfofes 3 @ @@ R 5. Which of the following options 18 2
RS A e d 7 Jimitation of educational psychology ?
) s fFm H R sEenelt @@ | | (1) Knowledge of various stages of
e child development
(2) T B TR FFHAA (2) Solution of problems of the class
<3) Sh Bisd fran

(3) Child centred education

(4) ¥afs fafrael @ T (4) Problem of individual differences

4. & dq0F H TS gRkdE oOw 4.
Foq-af, gfe, Felm a9 @ g,
A F1 HEY B qwE B

Cognitive powers of a child like
imagination power, intelligence, ability

to take decision etc. are related to child's

(1) wrifts fgea & (1) Physical development
(2) amifEs R & (2) Social development
(3) gafhor | | (3) All-round development
«4) "R faer | (4) Mental development
5. 39 Jogd Ry @ g6y § 71 @8 78 5. What is not correct in the reference to
2?7

case study method ?

(1) 38 T% I fafy & (1) It is a scientific method.

42) 7 fafy sga «few it B
(3) T8 9% 3 gEi B B

(2) The method is very complex.

(3) Itissimple and cheap.
(4) T FOT F G TOE GRS
e e 21

(4) It gives remedies of problems

after knowing the reasons.

Level-1/251



6. F A & el 3 f Prfafeg
& R 1 G ot qhe D a2

(1) sEme fafy
(2) HYE reiiemy
(3) =AM fafy
A4) FITHE foharpamy

7. i & & fog & & o o ¢ o
& wNRTT F AT FY @ E 7

£1) TeIYEH F fmir
©Q) Faem dmws
3) fawa Frefzor

(4) fa<ig g

8. Ret & orgam fawra 1 qunm ergen
(T & 2 9 %) F F== A SgH
TR A Rred 20 e B, J8 R

(1) 3kEt 3 @ g

(2) ovqd fele &m

3) W B U G = B A9 F &}
£4) gd Ridq g/

Level-1/251

(5)

C
6. Which of the following methods will

be best for teaching students of class

three ?
(1) Laboratory method
(2) Group discussion
(3) Lecture method
(4) Creational activities
7. In which of the following area NCERT
is using psychology ?
(1) Preparation of 'textbooks
(2) School organization
(3) Subject determination

(4) Financial support

8. According to Piaget, during the first

stage of development (from birth to 2

years of age) a child learns best

(1) By using senses

(2) By thinking in an abstract way
(3) By comprehending new words

(4) By concrete thinking

P.T.O.



9. U T FN A WE T M@ F I
ol o Rog & g9 & & F@ §
A 2, W T 2

L) AW F FETES @
(2) ™ F YA R

- (3) ST B TR T
(4) SRS SRR

10. 3= 3w P R o
TS & Fel R Rear o wepar ® 7

(1) @ & ¥
(2) °Y
(3) offEfam
£4) feameg og e
11. F=iofed § @ o9-a1 3% =9 3

qow REE B gy o9 Sl a0
e & ?

(1) 9Rar
A2) anfds Rafy
(3) @rem

(4) GTRE

Level-1/251

(8)

9. A child applies the

10.

11.

mathematics

) in
learned in the class 1n solving

problem of some other subject, then it
is called

(1) Positive transfer of learning

(2) Zero transfer of learning

(3) Negative transfer of learning

(4) Motivational transfer

Where can the child's cognitive

development be defined the best way 3
(1) Playground

(2) Home

(3) Auditorium

(4) School and Classroom

Which of the following factors will

have least influence on the emotional

development of a child ?
(1) Family
(2) Economic condition
(3) Health

(4) Games



(7) o

12. Frffed & & e Efy 12. Which of the following is not a

fasrar 78F & 2 speciality of attitude ?

(1) T8 e et B (1) Itis inspiring.

(2) ¥ TR FTER H MR A 2| (2) Itis the base of our behaviour.
£3) ¥e STEUTE B (3) It is temporary.

(4) & drdt s B ' (4) Tt is learned.

13. STERIHE (Y & yam R fom femar 13. Remedial method is used for

o R, 3 E

1) g T (1) Normal Children

(2) TTEEF g (2) Problematic Children
«3) WHM T GYEHE T (3) Normal and Problematic Children
(4) sfersamett a=2 (4) Gifted Children

14. fr=fafed & & PA-a1 geemae ffy & 14. Which of the following is not a defect

Ay 7 ? of questionnaire method ?
{1) 918 997 IO T FeA FH 2 (1) Forming good questions is a
difficult job.

(2 39 Ry A e Ffeadl & faEm (2) Views of many persons are
A ST g 8 | | obtained by this method.

3 & gFar & & @bl g (3) The questions included may not
ﬂﬁﬂﬂﬁlﬁ F & be well planned.

(4) B whar ¥ B @ g B I A (4) Persons may:not be interested to
% 5fy 7 w@d & answer the questions.

Level-1/251 , P.T.O.



15. Prifefae & @ Ifes a@@Ee &

AT FH g ge Hedy FE
P-4 § 7

(1) fyaea &1 arE
£2) IRAR F ARAETT
(3) TR-USH H AR

(4) TiEHHRH arAET

6. Rt @ fuw § AW W@ AW
=fe ?
(1) % I AP TG F G T |
(2) e farerdl &1 HH AEH FOT |
(3) 78 g faam # deras® 2|
(4) & TN @ ARE qgEE w
Eeaiezul

17. frafofed ﬁﬁﬂmww
kT 1 76T & 7

(1) PrER
(2) ﬁ'rgc‘ct qifer
(3) IBHAE @G

(4) Rara=s Tgmamn

Level-1/251

(8)

15.

16.

17.

i s is most
Which of the following factors 18

: i ectual
important in affecting the intell

environment ?

(1) Environment of the school
(2) Environment of family
(3) Environment of neighbourhood

(4) Cultural environment

Why should students play games in

school ?

(1) It will make them physically strong.
(2) It will make teacher's work easy.
(3) It will be helpful in passing time.
(4) 1t will develop cooperation and

physical balance.

Which of the following is not the

characteristic of extrovert personality ?

(1) Sociable
(2) Leadership power
(3) Aggressive temper

(4) Day dreamer



(9) C

18. FRrer 598 o st BT ® o9 18. Teaching is most effective when
(1) fardi fowa & sfy & ¥ (1) students take interest in the subject.
2) e it fvg & = 99 2 (2) teacher has deep knowledge of
the subject.
«3) feenfiat = I TEftE & B (3) students are taught according to
HTEY fIrem & o | their mental level.
4) & @ Rvg-asy & aRaR e (4) same subject matter is repeated
o | again and again.
19. 99 WRUFEd ¥ qed GG FE 19. Training before normal maturatior; is
g generally
(1) 9 el & Fraes & e § (1) highly beneficial with respect to
ggd SIEIE G performance of the common skills.
(2) Erfemifers m q A B B (2) beneficial from the point of view
of long term.
3) et ?Ew Q- i 2 21 (3) harmful from all points of view.
«4) gfdreer 2g Iwdr 7 T By w (4) beneficial or harmful depending
frsfit #%@ gu ol a1 eferRs on the method used in training.
B |
20. fyefifag & q 59 FRF & @1 W 20. Which of the following factors has
Y F9 YN 9241 & 7 least effect on learning ?
1) =FEF () 9g (1) Fatigue (2) Age
S (8) U (4) fomig (3) Illness (4) Gender difference

Level-1/251 - P.T.O.



C (10)

. R ¢ a moral
21. Frefofe & & @9 Hfw omea 787 91. Which of the following 18 no

z? habit ?
(1) &9 ST (1) Speaking truth
(2) wergyfa Rar (2) Showing sympathy
(3) W& IS BT (3) Correct pronunciation
“)l Sl Xz fear (4) Showing kindness to living beings
22, EH B T 22. The childhood stage is
(1) 59 § 9 3 ¥ F Y 7% (1) From birth to the age of 3 years
«2) TR a9 & AFT 6 ¥ P G T (2) From third year to the age of
6 years
3) 82 3¢ q qFW 12 I A Y TF (3) From six year to the age of 12
years
(4) 3,_{@' g @ dFT 10 T 12 9 & (4) From two year to the age of 10
HG 6 or 12 years

23, O & d@sres e @ 9] g | 23.
FI-q1 el 787 2 ?

Which one is not included in Piaget's
four stages of cognitive development ?

(1) T mE sgen

(2) d-wiharcTs e

(1) Sensory motor stage

(2) Pre-operational stage

4£3) IA-HiaTHSE STaen (3) Post-operational stage

(4) qd HikaTeE ST

(4) Formal operational stage

Level-1/251



24. REN 9= 3t Gorw A 2 o3

(1) MR R F

(2) I RF R
A3) Tt ferg

(@) F39 A Frr &

25. F=fefed & ¥ Fmw aow 3 amies
WIEA G 919 e a1 IRE 78T R 7
(1) 9RER & T
ﬁ)‘mﬂﬁ:ﬁam
(3) E& F 994

(4) q@mi® a=tar

26. frafafea d @ afem dadt -
FT TE TE & 7
(1) 38 Sfe @R =@y |
@) TR @ T A G T 2
(3) erdw wAt Siftr ¥ meg &t B

() s ufear & afwRem weEgl
ot ol &

Level-1/251

(11)

o

24. Education is helpful to children in

25.

26.

their

(1) Physical development
(2) Mental development only
(3) All-round development

(4) Character development only

Which of the following is not a factor

affecting the mental health of a child ?
(1) Poverty in the family

(2) Feeling sleepy in the classroom
(3) Lack of affection

(4) Domestic quarrel

Which of the following statements is

not correct with reference to learning ?
(1) Itrequires favourable environment.
(2) It has no relation with maturity.
(3) Teaching aids help in learning.

(4) Motivation plays important role

in learning process.

P.T.0:"



o7 Freeh Fueh § Rewr @ @« fafy BE
gt o 2, a8

) it e Fdws
@ fRrmr @ fftd & i

(3) R 9% g5 3w R

(4) [T 3 gEmTEE Riara

28. frifefled & & #9-w F47 & 78
7

1) o iR gfe wgEt & yafgErt
g

) RFm w6 gaa e 21

3) fs fFm & & & 9w )

(4) fobr e, FRiguEAE o

AR § AN AN I GREd
H TH FA R

Level-1/251

(12)

27.

28.

thod of
In lower classes, play-way me

teaching 18 based on

] ; me
(1) Physical education program

(2) Theories of methods of teaching

e of
(3) Psychological principles

development and growth

(4) Sociological principles of teaching

Which of the following statements is

not correct ?

(1) Development and growth are

synonyms.

(2) Development is a continuous

process.

(3) Growth is a part of development.

(4) Development shows the qualitative

changes appearing in work-capacity

work-capability and behaviour



(13) C

29. Freifoifes q PH- UF dF B 29. Which of the Ifollowing iIs not a
TR My 787 By ? psgoho-mobor-activity-of wehild’?
1) @ (1) Playing
(2) T B (2) Throwing a ball
@) (8) Writing
4) dre (4) Thinking
30. et @ AR 98 T e 9o 30. According to Kohlberg the level in
# AE T 3w A Frifa e 2 which child's'morality is controlled by
%ﬂTﬁT(t’ﬂ) g fear of punishment is called
(1) Tf-%?ﬁ A= (1) Pre-moral stage
(2) T I w7 . (2) Conventional moral level
~(3) Gﬂ?ﬁﬁﬁ%’ A srgen (3) Self-accepted moral stage
(4) Aerpar w@X : (4) Morality level

Level-1/251 P.T.O.



C (14)
1T - II/PART - II

AT -1 (&= )/LANGUAGE - I (HINDI)

ﬁ?sr.-ﬁwﬁr@azsﬁimﬁiﬁfamaﬁaﬁmﬁm ISR
31. ‘T’ 9T § 34. ‘HNEE q= 7 gug &
'ﬂ
Q) T 1) T
(2) dg9g <2 Er:q‘m
(3) v (3) dE
(4) &Y qEH (4) TYHY
32. ‘9 UWi® e B § ‘ge 9= B 35. Fr= § § g@? faew @1 999 FAC
£1) gEH (1) &I
(2) AEIHS fasigor £2) &
(3) Mf¥ea Torar=s fasmor (3) &
(1) MeggarEs gd=m (4) &
33. ‘FO9 — A 9= FH F: IgE o 36. ‘T fr= @ iy R
-
(1) M
(1) TR — T
(2) BT F
e2) ggl —a+
<3) &t #;
(3) HE — I
: e
(4) gg1 — fooreft W

Level-1/251



37. FYE TR F g
«1) T
2) Terdard
(3) Sfww
(4) Wi

38. 1 & ¥ ‘s’
(1 =
(2) s
«3) At ()

4) 3

39. A= ¥ & qw 2

1) g
2 @

@) @t
(4) T

40. ‘T 9T ¥
(1) Sfcrareres el
42) =S Hel
(3) Torare fasmer
(4) Af¥Tara® il

Level-1/251

(15) C

41. ‘9FHs’ 9949, F9 TG F -G T
27

(1) Fgarad
(2) FHAES
(3) FTEEH

q4) A

42. fy=ifea § ‘5% g9 @ fffg o= 78
2

(1) fafrs
<2) Y%
(3) e
(4) T

43. ‘WU 9= 1 e 2
(1) J&x 2 Fax
(3) IW (4) fEx

«d4. ‘SERE’ P Gy frede B
(1) o1& +
42) & + U
(3) M + T

(4) @ + U

P.T.O.



45. ‘@ gemn 7 T &, I FE ¥
(1) Hfafy
(2) STEd
<3) HI

(4) srafea

46. ‘FE T F JW T, I TBW 2
(1) §gF a4
«2) G

3) Mg a=

(4) 8 8§ g T

47. ‘IMEAE W gFA gl & A B
(1) S H AR gFA

£2) TG g1 FHEA
(3) wfafted afd #t e T
(1) F& A Rar

48. /=1 § § ¥99 9= g
(1) &
12) fAem
3) &g
(4) TP

Level-1/251

(16)

49, fret & 299 9= B

1) FaE (2) T

(3) B™ (4) A"
50. ‘e @ I WY T @

(1) g +@ (2 T+

(3) He +@ 44) Heq + 7

AT : Freafire i & wewe Re T T
(797 o 51-55) & g afwT Ry # FAT

= o o9 gy ¥ geeEE SR
TR & el ged dw H B § g

g ¥, R wfem Rl @ fg @ oind

fremd awd 81 goet ¥ Womw # dE -
framer @i s 8, Ffoee § dfed awe #
e I W-fEds A ik ) @ dew of
TR, B AT B T A AAT B G
A FFE fed F A oW wedh A
ot % 1 g, ferelda, aw o ol o @
T ¥ 1O O A a=w A ¥, R Yo
mwwﬂ%ﬁ%lﬁﬁ%mmw
g, 3 aFardl € B B ade ¥ A Y e
T AW @ E FOWEHT 9@, 3w
SREIE LG I ICL RO e e g—
WW@%IH‘W:WqﬁW}W
IR SR ST A Pl v A R s



(17)
SEEEALZE IR S BT p——
qamaqﬁanw-maaﬁwaqﬁﬁé
ol @ 8 T B E 7 i qg @
It A At Rre sl 3 R &
Wﬁﬁqﬁmméﬁmﬁﬁﬁﬁ,
mwﬂ*ﬁwa},aﬁmﬂﬁ?ﬂmwﬂﬁ
T Y TS %, R R son e
g F0A &1 R Rl f R ar e divar
wﬁaawﬁwﬁﬁ&z@wﬁ%
T AR T B B A P f oo d
deH 9= A o #Y; g A, mw @
@Tﬂﬁﬁfﬁﬁélwmsﬁvﬁmﬁ,a@
mﬁaﬁﬁmmﬁagméWEﬁ&
grga e & g 3 @ St w1 A, 9@
e o R-aet &, & § ewrd W gy
# AgRE IR &9 @l 3 sraEml @
Qe af<fed &1 awa: off 3= & off ot
g ol e B &l ¥t ¥ R a=w @
ST & | & org gar € oiiv & ardE W
§ W % e R Ay ot @t o B, o9
¥ T S F TR G T@HT IT I
§R J69 FXd g Sfigd § SAR @, 98 o
WA @H Ford & 3 o ol I T &
aifa Fa & I fasafed ¥ ffafm @

F HF AH T |
51. ‘T @1 of @
<1) g g F 1Y
(@) =1
(3) FHeq
(4) sl

Level-1/251

52. FHICETH HI HlA-471 JAT &
(1) wr-fRads |
(2) #gs &
) dfeq a== 4
(4) dm-framer &

53. YEM 3 ey F Rdwa 2
(1) i i
(2) dfFmT ot T

(3) a1 3R am @ FeAm A
«4) ITgF T
54. HETER @ ge & T 2
(n%ﬁﬁ
(2) T A
3) ey s @ onfor F @t @

mywmwwmﬂﬁmﬁﬁ
P.T. O.
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g7
55. R 9E S 58. fiﬁm%iﬁqaﬁﬂm

fl)ngﬂﬁwmmﬁzﬁrmﬁmﬁ (1) Frafaaret
! (2) F®
2) g B g @A |
£3) 19
q
(3) Io@ Sfekd (4)3—#‘(@%:@
(4) Q- a9 A

P & A & & B 59. 'wmnﬁw%rmﬁa@f?%
08 @ I

i, 41) Fa gad
(1) idr ' B
) (2) ey gadl
(2) TN
3) qaAm A
(3) Bmar 3
- 44 (4) T e

57. ‘WW@W%”W 60. A F 98 Y S TH b IR B

= ™ g & S ®, Fee o
yORLLEES
(1) g
(2) AITg
(3) IR\ 2) foer®
(4) SwgE @ | (3) ATE
(4) I

Level-1/251



Direction : Answer the following questions by selecting the

(19)

ST - II/PART - 111
ST - 11 (S AA)LANGUAGE - 1T (ENGLISH)

most appropriate oplion.

61.

62.

63.

According type of

atmosphere is required for learning ?

to you, what

) Social
(2) Noisy @

(3) Adverse

(4) Quiet

The captain said to the soldiers, "You
will guard this bridge."

Here the captain
(1) requests () orders

(3) advices (4) invites

During the British rule in India, who
played the most significant role in

making English as a medium of

education ?
(1) Macaulay
(2) Dalhousie
(3) Curzon

) William Bentinck

Level-1/251

64.

66.

Choose the most appropriate option

for the blank :

'There is hardly ............ time left for
the bus.'

() any (2) much

(3) more (4) most

Fill in the blank with the correct

option in given sentence :

"I paid the bill but the cashier did not

give the ................ ¥
(1) receipt

(2) receive

(3) receiving

(4) received

Which word of the given words is an
adjective ?

(1) Wisdom

(2) Truth

) Intelligent

(4) Youth

P.T.O.



67" The synonym of 'Courteous' is

£1) impolite
(2) kind
(3) polite

(4) kindness

\

- 68. Complete the

correct option :

sentence with the

"My brother goes for a walk daily. He
walks very .............. ."

(1) fast
(2) quick
(3) slow

A) fastly

69. Identify the word which has a

different sound (underlined in the last)
(1) tough

(2) lau-g_h

® high

(4) rou_g_}l

Level-1/251

(20)

"Help me, please”

70. He said to Mohan,

tence
In reported speech the above sen

will be

\

W He requested Mohan to help him.
(2) He suggested Mohan to help him.
(3) He ordered Mohan for help.

(4) He thanked Mohan for his help.

Direction : Read the following passage

carefully and answer the questions strictly

from the passage (Q. Nos. 71 1o 77) :

Forget goodwill and equality when 1t
comes to our friendship. Research has
shown that when it comes to picking friends,
we feel most comfortable in the company of
people who we think are on the same level
as us socially or even slightly below us. It
doesn't matter how well you're doing as long
as you believe you are better off than your
friends and neighbours you find your life
more fulfilling.

This new research might come as a
shock to many, but if we are completely
honest with ourselves, we would realise that
we have felt slightly threatened by a friend's
success sometime or the other. Even with

past friendships, the real reason could be



that at some point, one of yoy may have felt
a bit superior or inferioy to the other. Even
if we don't spell it out, most friendships
have a lot going on below the surface. As
much as we may try to deny it or pretend
otherwise, most of us are easily impressed
by a great job, a large bank account or rising
social status when it comes to picking a
partner, or friends. In both cases, we want
people who are there for us and reinforce
our own self-worth. So, more often than not,
the question that is running through our
heads is, how can we choose a good friend, if
we were not as good ourselves ? But it's not
all about the outward trappings. Very often,
it is the emotional bit that is relevant. For
instance, a woman losing vast amounts of
weight may get not very complimentary
feedback from close friends, no matter how
fabulous she looks. She could be accused of
being too thin or even arrogant suddenly.
What has happened basically is that as her
friendship status has gone up, she is forcing

her friends to re-evaluate theirs.

71. When we choose friends, we don't pay
attention to
(1) their mental level
(2) financial status
—43) goodwill or equality

(4) superiority

Level-1/251

72,

73.

74.

Cc

We become jealous of our friend's
Success because

(1) we can't accept a challenge

(2) we feel threatened by their success

(3) they have a higher status

A we are incapable of achieving

sSuccess

We attach more importance to the

rising status of our friends because
(1) of their higher financial status
#2) of their respect in society

(3) it reinforces our own self-worth

(4) of their reflected glory

A fat woman who has lost weight may
not get good compliments from her

*

friends because

(@) her friendship status has
suddenly gone up that forces
them to re-evaluate their own

status
L}

(2) she looks more beautiful than the

others
(3) she has become arrogant
(4) she has challenged their beauty

P.T.0.



(22)
: m teaching
75. We feel comfortable in the company of 78. In making classroo i
: &
friends who effective, the most important pa
Lesson plan

(1) are less beautiful ()

(2) Study material
(2) are of Similar or a htt]_e ]O\\'@r ;

social standing (3) Teaching method

J i in' (4) Teacher's personality
(3) enjoy better reputation in the

society

4 7 i in meaning to
are polit 9. The word opposite 1n Ing
() polite and well mannered

'Innocent' is

76. We wish to be re-evaluated when

(1) guilty
(1) we are in a financial crisis (2) clever
(2) we are in distress (3) smart
(3) our status is better off £) ignorant

(4) we have so many friends .
80. Choose the correct option of the

given jumbled words
77. 'The word 'arrogant' in the passage

means
art/study /do/?/you

(1) Youthful
(1) You study art do ?

(2) Morose (2) You do art study ?

¢8) Proud and unpleasant (3 Do you study-art ?

(4) Resentful

(4) You do study art ?

Level-1/251



g

81. Choose the word which has a different

82.

83.

sound (underlined in the beginning)
(1) Cheque

42) Chain

(3) Check

d4) Chemistry

The Montessori system of teaching

focuses on

(1) the child
(2) the teacher
(3) the textbook

(4 the study material

Fill in the blank with the correct

form of verb given in brackets from

the options :

The train ............... (leave) before he

reached the station.
(1) left

(2) had left

(3) was leaving

#) had been leaving

Level-1/251

(23)

84,

86.

Choose a suitable pronoun for the

blank, from the options given :

'Heena and Teena own a house. .........

house is beautifully built.'
(1) His

(2) Her

(8) Theirs

(4) Thewr

‘Kavita is a beautiful girl.'

The underlined word in the sentence

is used as a/an
(1) Noun (2) Verb

((3) Adjective  (4) Adverb

Choose the appropriate preposition
for the blank :

'l shall come back ............. 7 O'clock.'
(1) 'in
(2) to
£3) at
(4) for
P.T. O.



87. The word 'Kindergarten' is a German

word meaning

(1) beautiful garden
(2) lovely garden
(3) small garden

) children's garden

88. According to you, how can grammar

be best taught to students ?

«1) By giving more and more written

exercises
(2) By giving clear explanation
(3) By memorising definitions, rules

(4) By giving practice in context

(24)

jate article for

89. Choose the appropr

the blank :

‘A gentleman cameé to school to see

Principal.'

ﬁ) the

(3) an

44) zero article

90. It is rightly said that a teacher always

keeps on learning. A teacher learns

from

(1) Books

(2) Friends/Colleagues
‘('3). Stﬁdents

(4) All of the ab_ove

Level-1/251
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9T - IV/PART - 1V
T/ MATHEMATICS

ﬁfﬂ-‘mW##Wﬁé‘ﬂvmmﬁwgﬁm

Direction : Answer the following questions by selecting the most appropriate oplion.

-

91. TF FHEGHT F e 240 T A B
o AR REE Ao A A 16 a2

g et s Fifig
&*’If
%’; (1) 20 &+ £2) 308H
324
a5 (3)3025?!1?[ 4) 1599
L] ¥
Jtiﬁ Lfr“b‘a

92. H{l PR 25 dleT g ¥ 150 fFH A
gl T & w21 30 et I F T8

et g8 @@ & @ ?
(1) 205 faet (2) 195 fost

43) 180 fart (4) 175 I

91.

92.

The area of a rhombus is 240 em?

and one of the diagonals is 16 cm.

Find the other diagonal

(1) 20cm (2) 30cm

(3) 25cm (4) 15cm

The car that [ own can go 150 km
with 25 litres of petrol. How far can it

go with 30 litres of petrol ?

(1) 205 km (2) 195 km

(3) 180 km (4) 175 km

% #4 @ fu sE/SPACE FOR ROUGH WORK

Level-1/251 !

P.T:O.



93. m® 9N TG HT
(_3)m+1 x(-3)5 =(- 3)7

) 4 @) 2

@) 1 4) 0

94. 18, 35, 10, 42, 21 F} TRFH Bt

(1) 18
(2) 10
43) 21
4 5

95. %o 4500 F F W 2 T T THEY
Bo 750 HHRY & 3T B | AN F) e

(26)

93.

94.

95.

Find m so that
(_3)m+1 " (_3)5 =(- 3)'

() 4 @) 2

@) 1 4) 0

Median of 18, 35, 10, 42, 21 will be

(1) 18

(2) 10

(3) 21

4) 5

interest of

If Manohar pays an

Rs. 750 for 2 years on a sum of

g s Fifm Rs. 4,500, find the rate of interest
(1) 8% (1) 8%
) 813~% ) sl3~%
3) 9% 3) 9%
4) 92% (4) 92%

% 34 3 T TE/ISPACE FOR ROUGH WORK

Level-1/251



9. T Rl R F R g9 w0 540
| TH FHAIR I IF 20% A9 G 391

m@%wmgwww?

(1) To 385
(2) o375
(3) To 350

) o 450

97. IR

«1) 4
(2) 2
3 -2

(4) -4

(27)

Cc

96. The selling price of a toy car was

97.

If the

shopkeeper was 20%, what was the

Rs. 540. profit made by

cost price of this toy ?
(1) Rs. 385
(2) Rs. 375
(3) Rs. 350

(4) Rs. 450

x 5 X
IfZ=2 then X T is equal to
y 3 Xy

(1) 4
(2) 2
3) -2

4) -4

TF F1d P [dT FTTE/SPACE FOR ROUGH WORK

Level-1/251

P.T.O.



(28)
98. 9% §9d B & §a few R 12, 98. Find the least number wh::l a‘::::
16, 24 A 36 9 3 T b @ A divided by 12, 16, 24 and 365
7 99 T 8 _remainder 7in each case
(1) 144 (1) 144
(2) 151 2 151
(3) 165 (3) 165
(4) 148 (4) 148
99. A 3p+7=258, A p&H WA BT 99. If 3p+ 7 =25, the value of p will be

M 6 o 8
@) 32 (2) 32
3) 28 ki 28
4) 9 @) 9

W s 3 fU T E/SPACE FOR ROUGH WORK

Level-1/251



£1) 8
(2) 10
3) 6

(4) 4

101. 250 =y a-cns‘ aiﬁ'ns q G T
SR TR 3 ) oK a2 @y 3
F o 129 Hiex H & | T Hw

(1) %o 5100
(2) %o 10,200
(3) o 3000

(4) ©o 4200

100.

101.

C

Find the number of sides of a regular

polygon whose each exterior angle
has a measure of 45°

-

(1) 8
(2) 10
(3) 6

(4) 4

Find the cost of fencing a rectangular

park of length 250 m and breadth
175 m at the rate of Rs. 12 per metre

(1) Rs. 5100
(2) Rs. 10,200
(3) Rs. 3000

(4) Rs. 4200

% 14 3 fT T E/SPACE FOR ROUGH WORK :

Level-1/251



102. @ FTRO B A A B el @

103.

WSMWGM%IWM
Yl F A9 g

(1) 14 O
@ 9
&3) 10 3
@) 100
T B A B T oy w6
Wmﬁfﬁ‘fﬁ%lﬁﬁmm

W#Wmﬁﬁﬁm

(1) 149¢
(2) 1639

3) 1294
(4) 1574

(30)

102.

103.

For a right-angled triangle, two smg)

sides are of 6 cm and 8 cm lengty

Length of third side will be
(1) 14cm

(2) 9cm

(3) 10cm

(4) 100 cm

The present age of Sameer's mother g
three times the present age of
Sameer. After 5 years sum of their
ages will be 66 years. Find the

present age of Sameer
(1) 14 years
(2) 16 years
(3) 12 years

6 &4 & T Te/SPACE FOR ROUGH WORK

Level-1/251



(31) c

104. @fﬁ%wmmﬁo 2,500 §
Gl I 5o 500 I T w
CEREC I D 3300 ¥ A5

mmawaﬁuﬁ‘ﬁmmqﬁm

104. Sohan bought an old refrigerator for
Rs. 2,500; then he spent Rs. 500 on its
repairs and sold it for Rs. 3,300. Find

his loss or profit percent

(1) 15% &ify (1) 15% loss
(2) 10% =iy (2) 10% loss
) 12% amy (8) 12% profit
(4) 10% &1

(4) 10% profit

105. I8l @& & R ofr 11 a7 4 32 3 105,
& "EA 1 Fif

The sum of three times a number and

11 is 32. Find the number
(1) 5

(1) 5
(@) 7 (2) 7
(3) 11 3) 11
(4) 9 i 9

% s & f¥T SE/SPACE FOR ROUGH WORK

- P.T.O.
Level-1/251



(32)

3 4 wi
106. 2%xa®x50* 71 7 A 106. The value of 93 xa3 x5a” will be
10
(1) 10a ) 10a*?
2 40a @ 400
7
(3) 40a @) 400"
(4) 40a" (4) 400"
107. =% 5l g & % 9 3@ qE P 107. [fz part of any number is 4 greater
' 3
% T 4 A% B, & 7 g@ T\ than % part of this number. Find this
H number
(1) 30 (2 40 (1) 30 (2) 40
(3) 60 4) 20 (3) 60 4) 20
108. 13824 F Y0 T HiTQ 108. Find the cube root of 13824

% F1d 3 U TTE/SPACE FOR ROUGH WORK



(33)
109 1 e 1 \5/6
" 64 B HE B 109. The value of [EJ will be
(1) 8 (1) 8
(2) 16 ©2) 16
() 9% @) 32
(4) 1/32 @) 132
110. T$ BEMEE 'Ef\hIOO e 2 ok o 110. There are 100 students in a hostel.
A H R 20 RA 3 R ‘Rﬂ‘?j 2l Food provision for them is sufficient
R W eEEW § 25 FEmi ol em for 20 days. How long will these
SN, @A T Ao wEl R RE provisions last, if 25 more students
o ? join the hostel ?
(1) 16f= (1) 16 days
(2) 20f= (2) 20 days
_43) 26 RA (3) 26 days
i
4) 12 RA ' (4) 12 days

% Fd 3 [T STME/SPACE FOR ROUGH WORK

Level-1/251 P.T.0.



¢ ' (34)

. i . 840 ;
111. Ho 840 gifka LSl et TH S| 111. An item of prmted price Rs 18
~ _ di
%o 714 ¥ I I B qEEr e sold for Rs. 714; what 18 the discount
feeer B ? percentage ?
(1) 20% ) 20%
2) 22% o 2%
3) 15% R
o s 4) 25%
112. TF & 3 TF Gd F 4% g9 ¢ | 112. The area of a square and a rectangle
A o 40 a‘ﬂ & o o @ are equal. If side of the square is
TSTe 25 Wit &, @ o B SEEREI] 40 cm and breadth of the rectangle is
FIfoT -25 cm, find the length of the rectangle
(1) 81 (1) 8lcm
(2) 654 @ 65cm
(3) 64 @t (3) 64cm
(4) 748R , (4) Tdom

1% 4 % f9U TE/SPACE FOR ROUGH WORK

Level-1/251



(35) C

113. T T I S T P 113. Find the height of a cylinder whose

UL Gﬁ‘{ Rl gsaﬂq BRI radius is 7 ¢cm and the total surface
968 T A ? area is 968 cm?
() 18R " (1) 15cm
(2) 16 8 (2) 16 cm
(3) 12 3d (3) 12cm
(4) 2089 4) 20cm
114. 25% B2 R 9M W WA 7 @& WX 114. Rahul bought a sweater and saved
g & o 20 F91T | ge q Ted @Wex ' Rs. 20 when a discount of 25% was
Y AT ? given. What was the price of the

sweater before the discount ?

(1) %o 80 (1) Rs. 80
(2) Fo90 ' | (2) Rs. 90
.(3) §0 75 (3) Rs. 75
(4) 095 (4) Rs. 95

% F1d 3 fT Te/SPACE FOR ROUGH WORK

Level-1/251 P.T.O.



(o

(36)
115, Bl & Hemelt &1 o 3 : 4 ¥ 115. The ratio of tW0 numbers is 3 +dang
ITH TN 4202 T 9 gE sum of these two numbers 1s 43¢
then greater number 18
(1 175 1) 175
(2) 200 @ 200
(3) 240 (3) 240
(4): 815 4) 315
116. #Ed B8 a7 gem 7 T o TAF 116. Find the smallest square numbey
e 6,9 9% 15 & fsifoa & g which is divisible by each of the
numbers 6, 9 and 15
(1) 225
(1) 225
(2) 900
(2) 900
(3) 450
(3) 450
(4) 36
(4) 36

% 4 3 T FE/SPACE FOR ROUGH WORK

Level-1/251



117. g 5,_"3'; 9,12, 10, 15, 7, 8, 7, 25 F
TEE T B ?

1) 5
2 7
3) 9

@) 12

118. {@% TN 3x + 2y = 4 adl

8x+5y=9% & 8
(1) x=2, y=5
(2 x=-2, y=5
3) x=5, y=2

(4) x=-5, y=-2

(37)

117. What will be the mode of numbers

5,/7,9, 12, 10, 15,7, 8,7, 25 ?
(1 5
2 7
3) 9
(4) 12

118. Solution of the linear equations

3x+2y=4and 8x+5y=91s
(1) x=2, y=95
(2) x=-2, y=b5
3) x=5, y=2

(4) x=-5 y=-2

% F1d 3 foU TE/SPACE FOR ROUGH WORK

Level-1/251

P.T.O.



Cc

119. 105 f%® # T 35 Fo €1 10 &o §
fre s @i o wa ¥ 0

(1) 30
2 24
3) 32

4) 27

120. xfa U a9 T § o 250 3 Ya
e MR R D T A AR
T q T H G A B 9 Fean
7T H R o R ¢
(1) %o 75
(2)" Bo 125

(3) %0100

(4) o095

(38)

119.

120.

The cost of 105 envelopes 18 Rs. 35

How many envelopes can be purchased

for Rs. 107
(1) 30
(2) 24
3) 32
1) 27

If Rs. 250 was divided amongst Ravi,
Raju and Ram, so that Ravi got two
parts, Raju three parts and Ram five
parts. How much money did Ram

get ?

(1) Rs. 75

(2) Rs. 125
(3) Rs. 100

(4) Rs. 95

W %4 & fU TE/SPACE FOR ROUGH WORK

Level-1/251
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HM - V/IPART -V
U419 9/ ENVIRONMENTAL STUDIES

fréar : AT 7wt @ gmv 33 3 frg g o R g

Direction : Answer the following questions by selecting the most appropriate option.

121.

122.

123.

HeE B TR ?

(1) e, Fes, w6y
(@) Gy, dmd, IR
A3 <EE, T8d, 2
(4) =@, |, Fr

Rrg Rie worel @ gaies o G
B ?

(1) d@ed

(2) e

(B Iz fe

(4) H&E

Breffafag & & $H-81 Te@rR S ferar
% e o o @ @ F Rem R 7
(1) 99T HeTEr

(2) o= mEErm

@f ITewifed Hedr

(4) el HerET

Level-1/251

121.

122,

123.

Which of the following is not a

grassland food chain ?

(1) Insect, Frog, Snake

(2) | Rabbit, Fox, Lion

(3) Planktons, Fish, Whale

(4) Mouse, Snake, Hawk

Which irrigation practice leads to
maximum water conservation ?

(1) Water wheel

(2) Tube-well

(3) Drip irrigation

(4) Sprinkle

Which of the following ocean lies to

the west of Australia and east of
Africa ?

(1) Pacific Ocean
(2) Indian Ocean
(3) Atlantic Ocean

(4) Southern Ocean

P.T.O.



124,

125.

126.

127.

(8) 989 T AT
W, TR H &9

SRS HeAyeT R F qredl @ awmE
8 P-4 9 srEifia # g ?

(1) St
(2) G
3 FEA SRR

(4) SIoT-arq

‘freg qatqRer Rgd’ wH@n A1 &

W 5 A
@ 17 &
(3) 217 @
(4) 7 ST H

Level-1/251

124.

125.

126.

127.

Worker honey-bee  convey ¢}
direction of food source to other beg
by

(1) Buzzing
(2) Dancing
(3) Chemical signaling

(4) Touch

Air pollution does not leads to
1) Gast;'o-intestinal diseases
(2) Cancer

(3) Respiratory diseases

(4) Corrosion of buildings

In photosynthesis which gas is absorbed
by plants from the atmosphere ?

(1) Oxygen
(2) Nitrogen
(8) Carbon dioxide

(4) Water vapour

‘World Environment Day' is celebrated
on

(1) June 5th
(2) May 1st
(8) June 21st
(4) October 7th



128.

129.

130.

Y FH F WY T iy A R
FA %‘F&mﬁ.m ToE  Fre-f=
oRfefedl & sfger a1 v w @
() 39 &1 & (2) & X T F (3)
o ¥ O T g

Wﬂﬁtﬁﬂﬁﬁmmﬁ
T F@ ¥ Rwww F@ ¥R
fFrepfdd #xd ¥ % s 3 R ord
AR e A omavEE ¥ ogq N
frfofad & @ frg o ¥ aa=
=g &t axan ?

(1) STaaaA

(2) FHHT -

M) ST

(4) arfepe

q
#l

Prfafeg § @ 9-@ @ & T 3 "I
R § go 8 § 7

(1) gefdel
(2) FT.

(3) A
) TIE

. s o 7 E 7

(1) 9
) ar¢ gide & T e

(3) g .

(4) =HAT .

Level-1/251

(41)

c

128. You do an activity involving
germination of gram seeds with
children where each child tries
germination in different conditions
(1) in air only (2) in air and water (3)
completely dipped under water.

The children enter the result in their
notebook in a table, analyse and
conclude that both air and water are
required for germination. Which one
of the skills children aren’t exposed
to ?

(1) Observation

(2) Classification

(3) Improvisation

(4) Logical reasoning

129. The male and female of which of the
following birds resemble each other ?
(1) Bulbul
(2) Koel
(3) Sparrow
(4) Sun-bird

130. Which is not a natural disaster ?

(1) Earthquake

(2) Short Circuit Fire

(3) Tsunami

~ (4) Cyclone

P50



c

131, FRYA GRE B aiE @ REE
TPR & XF B a1 § gy @7 B 2

(1) &g
(3) Igentt

(2) S,
W T

132, Frfefed & & @ gus & o

o & 7y 7

1) TR

@ T

) g= 9

(4) Ty

T A A N A o A

dat ©@ wof B A B R B
R, Pl

(1) 3 fodt @

(2) T ¥ Grad & o
@) it @& vt @ o

133.

134. w@ﬁmwgﬁg
(1) o
2 @
(3) FHel
) IR Tl

135. frefifed & & B avefy 3 @9 en
@ ?
(1) TR
(3) &l

Level-1/251

£2) W

(4) et

(42)

131.

132,

133.

134,

135.

i ] leaves
By demonstrating spiny a

. vhich type
teacher is teaching about ¥

of plants 7

(1) Terrestrial (2) Aquatic

(3) Epiphytic (4) Xerophytic

Which of the following 1is not a
protein rich diet ?

(1) Cheese

(2) Pulses

(3) Pure Ghee

(4) Meat

In rural area, cow dung is used to
coat the floor and walls of huts to

1)
(2)
(3)

make them smooth
make them rough for friction

give a natural colour to the walls
and floor

(4)

keep the insects away

Natural resources includes

(1) Water
(2) Minerals
(3) Wood

(4) All of the above

(2) Maize



136.

137.

138.

139.

HEIRGRCITE
(2) e 3R g st

@ B, ai s st qgfa
ferem &

TE R A F T A 2

(1) 9
3) 9

2 @

(4) T

QAT SteTs F 359 2

(1) WY gglaey/ e @
ity T IT= HAT

(2) aw e/ @i g5d @ o
I A B

(@) R & 9 HEReTE gRe
I~ FH

(iii) TEEAT q@
A @) 3R G (@ 6
@) Gi) AR i) @ @), @) AR (i)

Level-1/251

(43)

136.

137.

138.

139.

EVS is an integration of
(1)
(2)
3)

Ecology, Virology and Science

Science and Social Studies

Science, Social Studies and

Environmental Education

Environmental Science and

Social Studies

(4)

The ultimate source of energy on

earth 1s

(1) Wind (2) Sun

(3) Plants (4) Animals

Environmental studies aims at

developing

(1) Understanding local
environment/environmental

1ssues

(2) Understanding
environment/environmental

global

1ssues

(3) To
towards environment

develop positive attitude

(4) All of the above

Which out of the given options are
environmental concerns ?

(1) Conservation of water
(11) Disposal of waste
(iii) Increase of Population
.~
(1) ()and @) (2) @)
(3) (ii) and (111) (4) (1), (1) and (i11)

P.T.O.



140,

141.

142,

143.

Frafafed ddf & @ @
I B ?

@) TE
(2) T
(3) Hed.
(4) gt

WA TN & % Prefifed g
aitaferg €

(1) 3gr, sxierTe ofv iy s

‘q&{’ m

2) g, W@, FE M ariy
geq .
(3) uiREdl s, I v ety W

(4) TETUS, YO AT e

fr=fafea & ¥ -1 99 F rEHRG
F F EEF TETE ?

(1) P (sr)
&) FIA M
(3) femd

(4) FETHT

Level-1/251

140.

141.

142,

143.

Raman was gifted four kg Amla by
his neighbour. He plan‘ls to prepa;e
murabba. Which technique does he

need to adopt ?

(1) Conservation

(2) Preservation

(3) Decomposition

(4) Pasteurization

Among the following plants which 1s
an example of "Tree' ?

(1) Banyan
(2) Rose
(3) Lowsonia (Henna)

(4) Oscimum (Tulsi)

Indian Peninsular region has the
following States

(1) Orissa, Chhattisgarh and Andhra
Pradesh

Tamil Nadu, Kerala, Karnataka
and Andhra Pradesh

West Bengal, Orissa and Andhra
Pradesh

Maharashtra, Gujarat and Goa

(2)
(3)
(4)
Which out of the following does not
help in disinfecting water 2

(1) Filtration

(2) Chlorine tablets

(3) Alums
(4) Boiling



C

(45)
144. Fefefed ® ¥ B9 eR qufgr @ 144. Which of the following is not
e & R ey TETE ? responsible for degradation of our
environment ?
X 3 e LR (1) Solid waste disposal
(2) FEH (2) Deforestation
(3) U (3) Afforestation
(4) e S\ F Iwm (4) Use of fossil fuels
145. Ffofed & & fgy & =afa FiRT 145. Select the odd one out
(1) 8 S (1) Solar energy
(2) @9 T (2) Wind energy
(3) SR FHut (3) Tidal energy
) TEE i (4) Natural gas
146. S ST F Mg Fpan o @ 146. Contaminated water can be purified
by removing
(67 qitea TEET 8l (1) undesirable chemicals
(2) g% H3gF &L BT (2) biological contaminants
3) &t &t g &K (3) gases
(4) T g4l (4) all of the above
147. Frfafaa d A P Tl FAHTE 147. Which of the following is an alternate
aa g ? source of energy ?
(1) wfeEs Jefta (1) Lithium batteries
(2) difegg (2) Sodium lamps
Q«}’ e FHetl (3) Hydro energy
(4) ™ § & (4) LEDs

Level-1/251 : P.T. O.



c (46)

n soil
148. eyt Ry Ry T W I g, IaH 148. Insectivorous pla‘“ts grow: 0
PH-H1 OF 727 & ? which is deficient in
(1) e (1) Nitrogen
(2) FrEq (2) Carbon
) T (3) Sulphur
(@) drRfirm (4) Potassium
149. VW I Ot FFEﬁ"T g 149. The chemical nature of 'Silk' is
d) FEreEse (1) Carbohydrate
(2) T (2) Lipid
(3) W (3) Protein
(4) T8 o (4) Fatty acid
150. Fr=ifafea & § -1t =T B LIS 150. Which of the following birds do not
#l fmfor 78F #ear & 7 build a nest of its own ?
(1) @ram (2) FEw (1) Crow (2) Koel
(3) e (4) gega (3) Sparrow  (4) Bulbul

Level-1/251
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Level - 1 HTET 2014-15 Set :A

Code No. : 251 (For Classes | to V)

Part : | Part : 1l Part : Il Part : IV Part: V

QN. Ans. QN. Ans. QON. Ans. QN. Ans. QN. Ans.
001 (3) 031 (3) 061 (3) 091 (2) 121 (4)
002 (4) 032 (2) 062 (4) 092 (4) 122 (2)
003 (4) 033 (3) 063 (4) 093 (3) 123  (3)
004 (2) 034 (2) 064 (2) 094 (2) 124  (4)
005 (3) 035 (2) 065 (4) 095 (3) 125 (3)
006 (3) 036 (1) 066 (4) 096 (1) 126 (2)
007 (1) 037 (2) 067 (2) 097 (1) 127  (2)
008 (4) 038 (4) 068 (1) 098 (1) 128 (4)
009 (2) 039 (2) 069 (1) 099 (2) 129 (2)
010 (3) 040 (2) 070 (1) 100 (2 130 (2)
011 (1) 041 (3) 071 (3) 101 (1) 131 (3)
012 (3) 042 (1) 072 (3) 102 (4) 132 (1)
013 (4) 043 (1) 073 (1) 103 (3) 133 (2)
014 (2 044 (3) 074 (4) 104 (2) 134 (3)
015 (2 045 (2) 075 (1) 105 (3) 135 (1)
016 (4) 046 (2) 076 (3) 106 (3) 136 (3)
017 (4) 047 (1) 077 (2 107 (3) 137 (1)
018 (4) 048 (1) 078 (3) 108 (4 138 (4)
019 (3) 049 (1) 079 (1) 109 (1) 139 (3)
020 (1) 050 (1) 080 (2) 110 (3) 140 (4)
021 (1) 051 (4) 081 (3) 111 (2 141 (1)
022 (1) 052 (2) 082 (3) 112 (1) 142 (1)
023 (4) 053 (3) 083 (3) 113 (1) 143 (4)
024 (2) 054 (3) 084 (1) 114 (3) 144 (4)
025 (3) 055 (1) 085 (3) 115 (1) 145 (3)
026 (4) 056 (2) 086 (4) 116 (2) 146 (1)
027 (2) 057 (3) 087 (1) 117 (3) 147 (4)
028 (3) 058 (4) 088 (2) 118 (3) 148 (3)
029 (4) 059 (3) 089 (3) 119 (2 149 (2)

030 (2) 060 (1) 090 (3 120 (2) 150 (4)



Level - 1

Code No. : 251
Part : |
QN. Ans.
001 (2
002 (3)
003 (2
004 (4)
005 (3)
006 (3)
007 (3)
008 (4)
009 (2
010 (4)
011 (1)
012 (4)
013 (1)
014 (4)
015 (4)
016 (3)
017 (1)
018 (4)
019 (3)
020 (3)
021 (2
022 (3)
023 (1)
024 (4)
025 (4)
026 (2
027 (2
028 (2
029 (1)
030 (4)

Part :

ON.
031

032
033
034
035
036
037
038
039
040
041
042
043
044
045
046
047
048
049
050
051
052
053
054
055
056
057
058
059
060

Ans.

(4)
(2)
3
3
(1)
(2)
3
(4)
3
(1)
(1)
(1)
(2)
(1)
(1)
3
3
(2)
(1)
(1)
(2)
(2)
(2)
3
(4)
(2)
3
(2)
(1)
(2)

HTET 2014-15
(For Classes | to V)

Part :
ON.
061
062
063
064
065
066
067
068
069
070
071
072
073
074
075
076
077
078
079
080
081
082
083
084
085
086
087
088
089
090

Ans.

3
3
(1)
(3
(1)
(3
(2)
©)
(1)
(2)
©)
©)
©)
(1)
©)
4)
(1)
(2)
4)
(3
(3
4)
4)
(2)
4)
4)
(2)
(1)
(1)
(1)

Part :

ON.
091

092
093
094
095
096
097
098
099
100
101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120

Ans.

€
©)
(2)
(3
€]
€]
(2)
©)
(2)
(3
€]
4)
©)
(2)
©)
€]
©)
(2)
©)
(2)
(2)
(2)
€]
4)
(1)
4)
©)
©)
(1)
(2)

Set :B
Part: V

QN. Ans.
121 (3)
122 (4)
123  (4)
124 (1)
125 (3)
126 (1)
127 (1)
128 (2)
129 (2)
130 (2)
131 (3)
132 (4)
133  (3)
134 (4
135 (1)
136 (1)
137  (4)
138 (4)
139 (2)
140 (3)
141 (2)
142  (3)
143 (4)
144 (4)
145  (3)
146 (3)
147 (4)
148 (2)
149 (1)
150 (2)



Level - 1

Code No. : 251
Part : |
QN. Ans.
001 (3)
002 (2
003 (4)
004 (4)
005 (2)
006 (4)
007 (1)
008 (1)
009 (1)
010 (4)
011 (4)
012 (3)
013 (2
014 (2
015 (1)
016 (4)
017 (4)
018 (3)
019 (3)
020 (4)
021  (3)
022 (4
023 (3)
024 (3)
025 (2
026 (2
027 (3)
028 (1)
029 (4)
030 (2

Part :

ON.
031

032
033
034
035
036
037
038
039
040
041
042
043
044
045
046
047
048
049
050
051
052
053
054
055
056
057
058
059
060

Ans.

(1)
(2)
(2)
3
(2)
3
(1)
3
(1)
(2)
(1)
(2)
(1)
(2)
(2)
(2)
3
(4)
(1)
(1)
(2)
3
(4)
3
(1)
(4)
(2)
3
3
(1)

HTET 2014-15
(For Classes | to V)

Part :
ON.
061
062
063
064
065
066
067
068
069
070
071
072
073
074
075
076
077
078
079
080
081
082
083
084
085
086
087
088
089
090

Ans.

4)
(2)
(1)
(1)
(1)
(3
3
(1)
©)
(1)
©)
(2)
©)
(1)
(2)
©)
©)
3
(1)
(3
4)
(1)
(2)
4)
(3
(3
4)
4)
(2)
4)

Part :

ON.
091

092
093
094
095
096
097
098
099
100
101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120

Ans.

(2)
©)
(3
(3
(2)
4)
€]
(2)
€]
€]
(2)
(3
€]
4)
(2)
©)
©)
4)
©)
€]
©)
©)
€]
€]
©)
(2)
(2)
(2)
(1)
(2)

Set :C
Part: V

QN. Ans.
121 (3)
122 (3)
123 (2)
124  (2)
125 (1)
126  (3)
127 (1)
128 (4)
129 (1)
130 (2)
131 (4)
132 (3)
133  (4)
134 (4
135 (4)
136 (3)
137  (2)
138 (4)
139 (4)
140 (2)
141 (1)
142  (2)
143 (1)
144 (3)
145 (4)
146 (4)
147 (3)
148 (1)
149 (3)
150 (2)



Level - 1 HTET 2014-15 Set :D

Code No. : 251 (For Classes | to V)

Part : | Part : 1l Part : Il Part : IV Part: V

QN. Ans. QN. Ans. QON. Ans. QN. Ans. QN. Ans.
001 (3) 031 (4) 061 (3) 091 (1) 121 (1)
002 (4) 032 (1) 062 (4) 092 (2) 122 (4)
003 (2) 033 (2) 063 (1) 093 (1) 123  (3)
004 (1) 034 (3) 064 (2) 094 (3) 124 (1)
005 (4) 035 (3) 065 (4) 095 (3) 125 (4)
006 (2) 036 (2) 066 (3) 096 (2) 126 (3)
007 (3) 037 (2) 067 (3) 097 (2) 127  (4)
008 (4) 038 (2) 068 (4) 098 (4) 128 (2)
009 (4) 039 (1) 069 (4) 099 (2) 129 (1)
010 (4) 040 (2) 070 (2) 100 (1) 130 (3)
011 (4) 041 (2) 071 (4) 101 (3) 131 (4)
012 (2 042 (3) 072 (4) 102  (3) 132 (4)
013 (3) 043 (4) 073 (2) 103 (2 133 (4)
014 (3) 044 (3) 074 (1) 104  (4) 134 (3)
015 (1) 045 (1) 075 (1) 105 (1) 135 (2)
016 (1) 046 (4) 076 (1) 106 (3) 136 (4)
017 (4) 047 (2) 077 (3) 107 (3) 137 (2)
018 (2) 048 (3) 078 (3) 108 (2 138 (2)
019 (4) 049 (3) 079 (1) 109 (1) 139 (2)
020 (3) 050 (1) 080 (3) 110 (@) 140 (2)
021 (2 051 (3) 081 (1) 111 (1) 141 (4)
022 (4) 052 (2) 082 (3) 112 (3) 142 (4)
023 (4) 053 (1) 083 (2) 113 (2 143 (3)
024 (2) 054 (2) 084 (3) 114 (3) 144 (1)
025 (3) 055 (3) 085 (1) 115 (1) 145 (1)
026 (3) 056 (2) 086 (2) 116 (3) 146 (3)
027 (1) 057 (1) 087 (3) 117 (2 147  (2)
028 (3) 058 (1) 088 (3) 118 (2) 148 (3)
029 (1) 059 (1) 089 (3) 119 (3) 149 (3)

030 (2) 060 (1) 090 (1) 120  (4) 150 (1)



Level - 1

Code No. : 251
Part : |
QN. Ans.
001 (3)
002 (3)
003 (2
004 (1)
005 (2)
006 (4)
007 (2
008 (1)
009 (3)
010 (3)
011 (4)
012 (2
013 (1)
014 (1)
015 (4)
016 (4)
017 (4)
018 (3)
019 (4)
020 (3)
021  (3)
022 (4
023 (2
024 (3)
025 (4)
026 (1)
027 (4
028 (2
029 (4)
030 (2

Part :

ON.
031

032
033
034
035
036
037
038
039
040
041
042
043
044
045
046
047
048
049
050
051
052
053
054
055
056
057
058
059
060

Ans.

(1)
(1)
3
(1)
(2)
(4)
(1)
(2)
(2)
3
(4)
(2)
3
3
(1)
(2)
3
(4)
3
(1)
(1)
(2)
(2)
(2)
3
3
(1)
(2)
(2)
(1)

HTET 2014-15
(For Classes | to V)

Part :
ON.
061
062
063
064
065
066
067
068
069
070
071
072
073
074
075
076
077
078
079
080
081
082
083
084
085
086
087
088
089
090

Ans.

4)
(1)
(2)
4)
(3
(3
4)
4)
(2)
4)
4)
(2)
(1)
(1)
(1)
©)
©)
(1)
3
(1)
(3
(2)
(3
(1)
(2)
(3
(3
(3
(1)
(3

Part :

ON.
091

092
093
094
095
096
097
098
099
100
101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120

Ans.

(2)
©)
(2)
(3
(3
©)
4)
©)
€]
(2)
(3
(2)
(2)
(2)
€]
©)
4)
€]
€]
©)
€]
(2)
(2)
©)
(1)
©)
4)
€]
(2)
(1)

Set :E
Part: V

QN. Ans.
121 (3)
122 (4)
123 (1)
124 (4)
125 (3)
126 (2)
127  (4)
128 (2)
129 (3)
130 (4)
131 (3)
132 (2)
133  (2)
134 (3)
135 (4)
136 (4)
137 (3)
138 (1)
139 (4)
140 (1)
141 (1)
142  (2)
143  (2)
144 (1)
145  (3)
146 (4)
147  (2)
148 (3)
149 (4
150 (1)
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